o /N/f/w/a W=ortr’ i =)o
pros (9%42) = o% o #li)”
= QL’ZZ+ 7547
2\ ° 2

= W - o=
N

(LFD



R AN Y NP A

W= 3+bi ZMM
M s (Z%W O Ll = 2

- i/ _ 7&¢ .
it = 84 s

S pr b = Yy T 26 =¥
ks, Pl =g =5

e
Zb=¥ 67T 1
=) )= j/Z%Z\)
é /
® ) ()
2= 2+l

2= V/mﬂ% %ﬁz) = [ g/



)
ey Sy

= i [ wlte) - 9lf44) 7)
= [nh; 414 |
W 4 Mo ]
S =[nd] = [ ad)

B oo . § net, okt doie Fash oo o

/W 4o

g 2 [ nb] (i)




H

/“(zméz ¢ giid i ) 1 (b 58 0)
= Vm#/wfhé’msé’— S + /Mlhﬁh?fﬁhﬁw)l‘)
= V“#(&ﬂwﬂ%ﬁ)% G [n0+ é’/z‘/
- VW/M@Q;*QL/MM-[) D
A thuder
; £
/?/ :[f/ﬂ] —y = fr/ﬁ]

2://4%-#] y
| }:? c-rf 7 rels

i /j/ 6’0] /{(é[ﬂ/‘fﬂol
44 = 2y
¥ o
ﬂ ) Z+ é/t //41«[ zé

£ 1ihors ol . ko












